
La cardioïde :
(
x2+x2−2·x

)2
=4·

(
x2+y2

)

-1 2 3 4I

-2

-1

2

J

O

L'astroïde :
3
√

x2 + 3
√
y2 = 3

√
4

-2 -1 2I

-2

-1

2

J

O

Fig. 2

La spirale de Fermat : y·sinx
2+y2

0,01
=x·cosx

2+y2

0,01

-2 -1 2I

-2

-1

2

J

O

La courbe du diable : y2·
(
y2 − 0,52

)
= x2·

(
x2 − 4

)

-2 -1 2I

-2

-1

2

J

O

Fig. 4

-1 2 3 4I

-2

-1

2

J

O

Fig. 1

-2 -1 2I

-2

-1

2

J

O

Fig. 2

-2 -1 2I

-2

-1

2

J

O

Fig. 3

-2 -1 2I

-2

-1

2

J

O

Fig. 4

1. La cardioïde :
(
x2+x2−2·x

)2
=4·

(
x2+y2
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3. La spirale de Fermat : y·sinx
2+y2
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(
y2 − 0,52
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